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


   


   


   


  


 
 




   
        


 
 


   

 
   


 
 





V X Z W


 


 


 

Name No.:

PRAGATHI  EDUCATIONAL  INSTITUTIONS
EASY TEST       (28.04.2015)     SA-ENGLISH (TET MATHS)         AVANIGADDA    Ph : 08671-272474


   


 
 


 
 


 
 


  


 
 




  


 
 

     


  


   
 


 
 


 



 
 



2




   



 


 
 


 
 


 
 

Put  But 


   


   



   




   


   


   


 


   


 
 


   


   




   


   


 
 


   


   


    


   


 
 


  






      






   


   


   


   


   
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       





       

       
 




 
 


 
 


   


   


 
 


 
 







 
   


 


 
 




 
 

71. Who wrothe Bangle sellers ?
1. Tagore 2. Sarojini Naidu
3. Robert Forst 4. Shiv. K. Kumar

72. The poem ‘The Death of a Mad Dog’ appears in
1. The vicar of wakefield 2. The good Natured man
3. The Deserted village 4. She stoops to conquer

73. “I bring fresh showers for the thirsting flowers”
Here ‘I’ refers to
1. spring morning 2. rain
3. cloud 4. rabbit

74. What is the name of poets (William wordsth) son?
1. Edmund 2. Allen 3. Peter 4. Edward

75. Which bird is hatching eggs.
1. stock dove 2. cock 3. parrot 4. eagle

76. ‘Where the world has not been broken, up into Fragments
by narrow domestic walls”

The above lines are taken from .......
1. Palanguin Bearers
2. Where the mind is without for
3. Upgupta 4. The cloud

77. Shiv. K. Kumar was born in
1. 1721 2. 1821 3. 1921 4. 1912

78. “We drove slowly’ Here “we” refers to
1. poetess and her family 2. poetess and readers
3. poetess and her husband
4. poetess, death and immortality

79. Upagupta was a
1. ascetic 2. merciful one  3. disciple of budha   4. all

80. Who sings the poem of palanguin Bearers ?
1. The Bridegroom 2. The princess
3. The birde 4. Planaquin Barers

81. Who does the poet question in the poem The swing ?
1. Teachers 2. Farmers 3. Housewives   4. children

82. The poem ‘The Road Not Taken’ is an example for
1. lyric 2. elegy
3. balled 4. Dramatic monologue

83. What is the narrator of Day - Break ?
1. cloud 2. wind 3. mist 4. fog

84. R.W. Emerson was a/an ........writer
1. British 2. Canadian 3. American 4. Irish

85. ‘Robots and people’ is a/an
1. short story 2. novel 3. play 4. essay

86. R.K. Laxman was a poet and a .........
1. cartoonist 2. jornalist 3. novelist 4. essayist

87. Who is the opponent of Napoleon ?
1. Minimus 2. Boxer 3. Squealer 4. Snowball

88. Who are the brain workers in the Animal Form?
1. Boxer 2. Dogs 3. Pigs 4. Birds

89. Who asked the principle to give back his school fee ?
1. leaderer 2. wasserkopf   3. peon 4. teacher

90. ‘Jiggins’ is a character in
1. How to live To Be -200 2. The Refund
3. The face on the wall 4. Mother - Day

91. Mother - Day is a/an
1. Novel 2. Short Story   3. One-act play  4. Essay

92. In After twenty years, Bob wore ........ watch
1. golden 2. silver 3. lead 4. diamond
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93. George pearson, Annie pearson and Fitzgerald are
characters of

1. Mother’s day 2. Macbeth
3. Refund 4. Julius caesar

94. The play mother’s Day take place in
1. The market place 2. The women’s club
3. The living room of the pearson family
4. The men’s club

95. ‘The Nightingale and the Rose’ is a/an
1. Essay 2. Short Story   3. Novel 4. Play

96. The Face on the wall is written by
1. Robert Frost 2. Oscar wilde
3. E.V. Lucks 4. J.B. Priestly

97. Whose life in Julius caesar is a tragedy of errors ?
1. Antomy 2. Octivins 3. Lepidus 4. Brutus

98. Who killed Duncan ?
1. Macbeth 2. Lady macbeth   3. Macduff  4. Malcolm

99. Choose the article for “I saw ........ bird”
1. a 2. an 3. the 4. no article

100. She died ......... cholera
Choose the suitable preposition
1. on 2. of 3. with 4. for

101. He worked hard .......... he failed
Identify the suitable word to fill in the blank
1. and 2. so 3. but 4. because

102. Identify the question tag for the given sentence
She is a tennis player ............?
1. is she 2. does she 3. was she 4. isn’t she

103. They ride a horse.
Choose the suitable passive voice
1. A horse was riden by them
2. A horse was being riden by they
3. A horse will be riden by them
4. A horse is riden by them

104. The sun ......... in the west
Choose the suitabe tense form
1. set 2. setting 3. sets 4. has set

105. She said, “I play chess” (Choose Indirect speech)
1. She said that she play chess
2. She said that I played chess
3. She said that she played chess
4. She said she has played chess

106. Rama plays tennis.
Choose the parts of speech for underlined word.
1. noun 2. pronoun 3. adjective 4. adverb

107. I saw a man while he ........playing chess
1. was 2. is 3. has been 4. had been

108. Run Fast or you will miss the train
Choose the suitable “if clause” for above sentence
1. If you runs fast, you won’t miss the train
2. If you run fast, you won’t miss the train
3. If you ran fast, you won’t miss the train
4. If you run fast, you will miss the train

109. ‘He works hard but he failed’ is a
1. simple sentence 2. compound sentence
3. complex sentence 4. all

110. “If I were you, I shouldn’t worry” is a//an
1. Noun clause 2. Adjective clause
3. Adverb clause 4. None

111. He cut down his expenditure.
Here cut down means
1. reduced 2. spent 3. moved 4. run

112. Rama is a little boy
Identify the parts of speech for underlined word
1. noun 2. verb 3. adjective 4. adverb

113. He is cleverer than she
Identify the positive degree for the given sentence
1. She is as clever as he 2. He is as clever as she
3. He is not so cleverer as she
4. She is not so clever as he

114. Don’t give ear to a tale - bearer.
Here ‘ear to’ means
1. listen to 2. look at 3. laugh at 4. gaze at

115. “Inspite of his poverty, he is honest’’ is
1. simple sentence 2. compound sentence
3. complex sentence 4. all

116. “If you run fast, you won’t miss the train” is a/an
adverb clause of
1. Reason 2. Condition 3. Purpose    4. Concession

117. The horse reared and the rider was thrown.
How many clauses are there in the above sentence
1. 4 2. 3 3. 2 4. 1

118. Subject + Verb + Object
Choose the suitable sentence that fits into the above

structure
1. How charming he is! 2. It is so dark
3. They play in the ground 4. she sings a song

119. Choose the incorrect sentence
1. This is my uncle 2. It is me
3. It is him 4. He are taller than I

120. Choose the suitable opposite for ‘brave’
1. timid 2. courage 3. foe 4. friend

121. I have four brothers.
Choose the suitable question that suitable to the above

sentence.
1. How many brothers does you have?
2. How many brothers do you have ?
3. How many do your brothers have?
4. How many brothers did you have ?

122. 1st person: Did he say anything ?
2nd person : ..............
Choose the suitable response for the second response
1. Yes, he didn’t 2. No, he did
3. No, he did n’t 4. None

123-126 Read the following passage
Isaac Asimov (1920-1992) was a prolific writer of science

fiction. In fact, he is considered a master in the genre of
science fiction. Most of his popular science books explain
scientific concepts in a historical way. His famous works are
the Foundation series, Robot series and Empire series.
Apart from these books he also wrote novels, short stories
and mysteries.

123. Which of following geners did Isaac Asimov write
except?

1. Mysteries 2. Histries 3. Short Stories 4. Novels
124. Asimov was a prolific writer of

1. Dramatic fiction 2. Non-fiction
3. Science fiction 4. None
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125. Isaac Asimov belongs to
1. 1990-1992 2. 1950-1952 3. 1942-1952 4. 1945-1950

126. Most of Asimov’s popular science books explain
scientific concepts in a

1. Scientific way 2. Historical way
3. Political way 4. None

127. In the word, “Shouted” the letters ‘ed’ are pronounced as
1. /t/ 2. /ed/ 3. /id/ 4. /d/

128. The word ‘leisure’ is pronounced as
1. teacher 2. creature 3. feature 4. measure

129. Conversation is related to
1. listening 2. speaking 3. reading 4. writing

130. ....... activity helps the children to improve their spelling
1. Dictation 2. Pronunciation   3. Role-Play  4. None

131. ........ is also called see - say method
1. Reading method 2. Word method
3. Direct - method 4. Bilingual method

132. Grammar rules are taught first in
1. Inductive method 2. Word method
3. Deductive method 4. Task-based method

133. ‘How a thing is done in the class’ is called
1. method 2. approach 3. principle 4. technique

134. Mother tongue is used without ristrictions in
1. Direct method 2. Bilingual method
3. Grammar Translation metod   4. Reading method

135. Tape - recorder is a/an
1. visual aid 2. audio - aid 3. audio-visual aid  4. all

136. Who suggested seven - step model in curriculm con-
struction?

1. Taba 2. Noon 3. Hymes 4. H. Sharp
137. A language can be easily learnt by

1. Expression 2. Imitation 3. Writing 4. Reading
138. TOEFL is a/an

1. Evaluation 2. Examination  3. Measurment  4. Test
139. How many mark are given to Appreciation ?

1. 5 2. 20 3. 16 4. 8
140. Dr. West’s New method emphasizes on

1. Listening 2. Speaking 3. Reading 4. Writing


   
xx 

   



   

 8.0 
   




   



   



 r2  r  r
7
36  2

7
36r




   


 
 


 
 


   

7a2-b2-ab 3a2-4ab 
4a2+b2-5ab 4a2+b2+5ab
4a2-b2+3ab 4a2-b2-5ab


   

x x=
   

8x+2=24x-3 x=
   




   


   
2m=100 2m-1=

   
       


 
 


   




   



 
 


 
 
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
x2+xy+y2 x+xy+y x3+x2y+y3 


 


   


 
 


   


 


   


 


 
 


CH3Cl CHCl3 Cl3CNO2 CaOCl2


   


 
 

       


   


 
 




   
       


 
 




    
       


 
 




   


  
 


   

       


   


   


  


   


  



   


   


 
 


   


  


  

       


 
 


   

 


 
 


   


   



Q.No Ans Q.No Ans Q.No Ans Q.No Ans
1 1 51 3 101 3 151 4
2 3 52 4 102 4 152 3
3 2 53 2 103 4 153 3
4 4 54 2 104 3 154 3
5 4 55 1 105 3 155 3
6 1 56 2 106 1 156 1
7 2 57 3 107 1 157 3
8 3 58 1 108 2 158 2
9 2 59 2 109 2 159 4

10 4 60 2 110 3 160 1
11 2 61 3 111 1 161 2
12 1 62 4 112 3 162 4
13 4 63 4 113 4 163 3
14 2 64 3 114 1 164 2
15 3 65 1 115 1 165 3
16 1 66 2 116 2 166 2
17 3 67 3 117 3 167 4
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17 3 67 3 117 3 167 4
18 1 68 4 118 4 168 1
19 2 69 3 119 4 169 2
20 1 70 3 120 1 170 3
21 1 71 2 121 2 171 4
22 3 72 1 122 3 172 3
23 1 73 3 123 2 173 2
24 1 74 4 124 3 174 4
25 4 75 1 125 1 175 1
26 1 76 2 126 2 176 2
27 1 77 3 127 3 177 1
28 4 78 4 128 4 178 2
29 1 79 4 129 2 179 2
30 1 80 4 130 1 180 4
31 2 81 4 131 2 181 1
32 4 82 1 132 3 182 2
33 3 83 2 133 4 183 3
34 2 84 3 134 3 184 4
35 3 85 4 135 2 185 2
36 4 86 1 136 1 186 1
37 3 87 4 137 2 187 1
38 3 88 3 138 4 188 2
39 1 89 2 139 1 189 1
40 1 90 1 140 3 190 140 1 90 1 140 3 190 1
41 4 91 3 141 3 191 2
42 3 92 4 142 2 192 3
43 1 93 1 143 4 193 3
44 4 94 3 144 3 194 2
45 3 95 2 145 3 195 1
46 3 96 3 146 4 196 1
47 2 97 4 147 3 197 1
48 2 98 1 148 4 198 3
49 3 99 1 149 2 199 1
50 1 100 2 150 1 200 4


